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Infinite Zero Negative Positive |On saturation point marginal utility is:
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is wasted Remains Increases | Decreases |When price of a commodity
balanced increases then its demand:
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~ Fallin Extension of | Rise in |Contraction|Decrease in supply due to cost of
supply supply supply of supply |production is called:
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Marginal” Constant | Decreasing | Increasing {[When marginal product does
returns returns , returns returns  |remain constant it is called:
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Marginal |Total variable| Total cost | Total fixed |The sum of variable cost and fixed
cost cost cost cost is: N
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Near moncy Token money| Standard Paper |1y Pakistan all coins are:
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ouantity of | Velocity of \ . . ot ]
Q _—— money Deflation | Inflation |The rising trend of prices is called:
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‘Trade cycle National Exports | - World  [The rise and fall of economic
‘ income recession |activities is called: _
1 . -
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1Foreign aid Goods Services ngf‘g:ensd The balance of trade are included:
3.5% 3% 2.5% 2% The rate of zakat is: 5::.'-7}(1'0; 14
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| Write definition of Economic propounded by Alferd Marshall.
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Economics is the study of human functions that relate to the day-to-day affairs of life. This
knowledge examines the part of man's individual and collective endeavours that is deeply related to

how the material necessities of a prosperous life are obtained and how they are used. So economics
is the knowledge of wealth on the oneside and on the other side (which is more important than the

first) which is an aspect of human life.
Write four demerits of Robbins definition of Economics. -quJ?bJ'beu{-de/dz (ii)
inttfr)“v:-v(_/‘b»l)‘ -1 A2
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2. Economics is not neutral science

. Economics is not like the physical sciences
4, Meaning of objectives and means are not clear

3. The problem of scarcity and inflation
What is meant by the Dc_ductive method of Economic analysis? ?‘4.."/(:(4-_.3:_)@1}'1 (iii)
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Deductive method means to draw conclusion from a generally accepted fact, such as the fact that
Man is mortal. From this it can be deduced that Aslam is also mortal. Similarity it is our common
observation that when the price of commodity increases, people reduce its demand.
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Write four characteristics of Labour. 'U"'"U“.L"'.'ka
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1. Labour cannot be separated from labourer 2. Labour cannot be stored !
3. Interrelationship of wages and efficiency 4. Less mobile )
Define Capital. ‘ -‘-lf —é’/’ LE;L/ ") !
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Capital refers to the part of income or wealth that is used to create more wealth or increase income,

For example: Machines, equipment and tools, raw materials, factories, roads, dams, power
plants etc.

Why does Marginal Utility diminish? ?q_d'fu[ J‘;ﬁ’“ i)
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Marginal utility decreases because as consumption increases, primary needs are satisfied, a4

additional units satisfy less important needs. Overuse can lead to dissatisfaction, reducing marging|
utility. This is due to the law of diminishing marginal utility.

Write the methods of measuring elasticity of demand. -Uf{ :'é-)LU‘j S.J'—g (!-r“ (vii)
Lilutehdul 3 aMeif 2 abiweda  EALTSLES

Methods of measuring elasticity of demand: ' '

1. Percentage Method 2. Total Outlay Method 3. By Mathematical Formulas

Describe four limitations of Law of Supply. - /L-)Lq:al;""ll{c":k/c}iﬁ' (viii)

cnfl i 4 ety 3 e 2 (GRS LB 1y
1. Dangers and political instability 2. Immediate transfer '
3. Seasonal conditions 4. Cash is required

Write methods of measurement of Elasticity of.supply. -u:’a.;i_)ﬁgfgg;.gt!m (ix)
I 608 3 Lilanhdel 2 A 2 PEL TS B i

There are three methods to measure the elasticity of the supply:

1. Unit method ‘ 2. .By mathematical formula 3. Percentage method |
MBS IRy 5 P 6x2=12 g feunlande i G
*Write the formula of Marginal product. » -4({1:'155’1’3!4;.(.3 I
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Margin;ﬂ product = Increase i'}pmduc"'(‘n AY)
- - _, Change in variables (Al) . N
Write the definiticn of Law of Constant return. -40-5’/‘."&)"05%0]5 (il
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If increasing of the units of variable factors with a certain factor of production in a sector of |
production and the marginal product of the increased unit remain the same, then the phenomen?” 2
this change in production is called law of constant return. N
Write the definition of Small Scale of Production _JJ}J}E'”—‘S (il
-t b2 L usylaiusts el L I A e
The scale of production in which goods are produced on s
labourers is called small scale.
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Write the definition of Cost of production,
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;y“;n;unl that a firm has to spend ‘ . Elg
g spend on making a certain quantity of goods is called the cost of

;;Fmduction.
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';\\l"“' the definition of Average revenue, -46..&’/7@((3;’1&:' )
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| \verage revenue refers to the amount that a firm receives per unit on average from the sale of its

5 bmduclion divided by the total revenue by the units of production sold.
; Total revenue

Units of production -

| Bt . -ﬂﬂuﬂiﬁrﬂﬁéwdf (vi)

| Write the conditions of firms's equilibrium in perfect competition.

‘ ~. :ugﬁﬁbamféwdj ol

: -ﬂ:f.;t‘gtﬂug{.‘tfé—dbi_lg(fﬁ:) -2 -n’:lﬁgd,u”(&:)/dw/léj -1
_uﬁjlsb}’dg’c...:aUbé:dﬁwb’:);}m;f&f -4 -ﬁ;bliTb'f’/;’)';b’df/‘gﬁdﬁ? -3

conditions of perfect competition are following:

1. There should be a large number of buyers and sellers.
'1. There should be uniformity in the units sold.

'3, Firm should be free to enter and exit the market.

: 4. Be fully aware of the buying and selling market conditions.
.Y (SN )

Write the definition of Perfect competition.
‘,f-"...{f‘j.‘/'(l/"ugz{.bﬁ.)ib;blﬂ‘_ﬁy‘*‘(u'q_tdxg)f:lﬂfuﬂ}uyt{_&O&lebéu'oJ; (2
g

into an industry where

Average revenue =

Perfect competition is a market structure where multiple firms have free entry

all firms produce identical goods.
: e (i)

Write the definition of Labour.
.,»..;_.::f&supgﬁw-,«f&cd’a.Mf?z;.@!dw&d%"uﬁuy;,;xg.J’ngJuy,;sf (7
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bour refers to the mental or physical effort of a person ’

Labour is the second factor of production la
tion. The teaching of the teacher is mental labour while

‘which is done for the sake of some compensa

the ploughing of farmer is physical labour. .
Write two_functions of Capital. ' : -4{}"!}»&,&/ (ix)
| N Y e OV

I. Purchasing of building 2. Purchasing of machinery
Attempt any six parts. 6x2=12 -éﬂ/@@lﬁﬁ,lﬂé;él AU
Write the definition of National Income . -u.‘o’._,i,’/-(fdﬂ'df (i)
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ry with the help of their capital use their

arshall, the people-of a count
amount of goods and services. This is the

According to professor M
ar to generate a certain

natural resources there, every Y¢

national income of that country. X

What is meant by Self provided Services? = Seslpfechu etk (i)
. _u-:g_»,tﬁjjtrL‘:/J'é,—.‘;.’t/‘ﬁjl:‘ﬁd“fd”/";"JLJUIL(?J'%{”L["W"t‘:’&’ ol

The value of commodity produced as a

self provided services. - »
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Write the definition of Near Money.
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hobby should not count towards national income is called
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Money that is not in the form of cash that cannot be used immediately in a transaction, howe,,

er, gh
nearest money can be converted into cash after a small effort. Saving deposits in banks,

'el'
deposits, government sponsorships and shares of business institution etc is a ncar money. N
Write four characteristics of Good Money. 'U-‘db’t"'"/(’ﬁuu’ (iv)
’, il
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L. Uniformity 2. Stability of value 3. Could not copy 4, Sustamablllty
Write the formula of Quantity Theory of Moncy. ‘ -(Je Uﬁlib’;)ﬂj-fﬁ ")
p MV+MV e

T

Average price level J_va/.:»{’:'lv:l = P

Quantity of legal nmnéy J'A:‘.’(,("J.G):G =M

Velocity of circulation of legal money J‘)};C’.JL{JJ. =V
: Quantity of credit money &AL = M’
Velocity of circulation of credit money JJ/(LLJU/U" =V

Total transactlon JLWJUJV =T
i t’mebb’dJTd :’/lfo / fJ 'f”C-—JJ( (vi)
Write any two factors on w hlch national income dependq upon,

1. Human resources 2. Natural resources deuﬁ j- 'y ¢ d'/idu‘ -1 102
Define Balance of Trade. .:{J/"Ju/lfuﬂj (vii)
A Lnbf..llfum_,m_,mf_JLJ_,u sl et et Ted /AL iz

“The calculation of the value of a country's annual tangible exports and the value of ts tang:ble
imports is called the balance of trade".

Define Proportional Tax. _c‘;’.,._dj"g(g}a..,/t- (viii)

-d.t'qu’C-./’tf'....'.u’.«JyC/JJC}.?JLLd/dA|Uﬂ4_bL€’Jc¢,C/d‘uﬁ/5'Jdi'/G R

If every level of income is taxed at the same rate, i.e. the rate of tax does not change despite the
increase in income, then it is called proportional tax.

Write the names of four beneficiaries of Zakat. u‘%tﬁu"/ W15 (ix)
R T B P 2 RV
1. Poor 2. Needy 3. Zakat collector- 4. Free of the slave

(r».n’)
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What is meant by Law of Demand? Explain it with the help of schedule and diagram.
:{rl/f:fujlub’:’:’UJJ La:J(";J(’UJL/UI'U m
Explain the Law of Equi-marginal Utlhty with the help or schedule and diagram

: Y ut,_,m’/u’w?c.; /l_fc:.("'?lt W

What is meant by Barter System? Describe its difficulties,

-Lf/u’L”JLfJ‘/LJ’YLJ/u/C—JJ y

What is meant by Money" Explain its functions,

-ufwbsd:b)lﬁdlf'a)/lfblc v m

What is meant by Trade Cycle? Explain its phases,

/
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